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Vertical Division with aHelper Grid

Name:

Solve each problem.

1)

35/8956

4)

779702

7)

6013300

2)

4118062

5)

6218928

8)

398156

3)

6)

9)

356501

686366

3112170

Answers
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 255131 2) 196126 3) 185r26 . 255131
35[8956 41[8062 35[6501 |
0 0 0 , 196126
89 80 65
70 41 35 3. 185r26
195 396 300 X 126
175 369 280
206 272 201 5. 144
175 246 175
31 26 26 6. 93r42
4) 126 5) 144 6) 93r42 ! 2
77l9702 62/8928 68/6366 s 20915
0 0 0
97 89 63 9 70
77 62 0
200 272 636
154 248 612
462 248 246
462 248 204
0 0 42
7) 55 8) 20915 9 70
60[3300 39[8156 31[2170
0 0 0
33 81 21
0 78 0
330 35 217
300 0 217
300 356 00
300 351 0
0 5 0
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# Vertical Division with a Helper Grid Name:

Solve each problem. Answers
144 126 93 r42 209 r5 255 r31 185 r26
70 196 r26 55 1

1) 2) 3)

35/8956 4118062 356501

4) 5) 6) 8.

779702 6218928 68|16366 o

7) 8) 9)

6013300 398156 3112170

ifi 1-9 [89]|78]67]56[44[33[22[11] 0
M ath ] M odified 1
www.Co

mmonCoreSheets.com




	Worksheet
	Answer Key
	Modified Worksheet

